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PHYSICS
- Given P+ Q = 0, then |§ % Ql is 7.  Two forces 3 N and 2 N are at an angle @ such that
11 7= the resultant is R. The first force is now increased to
a) |P[[Q] &
b) Zero 6 N and the resultant becomes 2R. The value of g is:
o) 1 (a) 30° (b) 60°
(l) m (C) 90 (d) 120
o1 A — 8.  Ifthe resultant of two forces of magnitude p and 2p
2. If twovectors 2i+3j-kand —4i—6j+ Ak are is perpendicular to p, then the angle between the
parallel to each other then value of ) willbe : forcesis:
(@1 (®)-1 2n 3n
(c)2 (d)-2 @ b)
3. Five equal forces of 10 N each are applied at one © an () ST
pointand all are lying in one plane. If the angles 5 6
between them are equal, the resultant force will be : . . _ ~
(a) Zero (b) 10N 9- If A=21+3j+ 4k and B = 41 + 3] + 2k,
()20 N (d) 102N then angle between Aand B is
a) sin~1(25/29) b) sin~1(29/25)
4.  There are two force vectors, one of 5 N and other ¢) cos™1(25/29) d) cos™1(29/25)

of 12 N . At what angle the two vectros be added _
to get resultant of 17 N, 7N and 13 N respectively? | 10- If theresultant of two forces of magnitudes P and Q

(a) 0°, 180° and 90° (b) 0°, 90°and 180° acting at a point at an angle of 60°is /7Q , then P/
(c) 0°, 90°and 90° (d) 108°, 0° and 90° Qis :
ey : . . (a)1 ()32
5.  Which pair of the following forces will never give (©)2 (d)4
resultant force of 2 N ?
(a)2Nand2N (b) I Nand I N 11.  Three forces P, Q& R are acting at a point in the
(¢) INamd3 N () INand4 N plane. The angle between P & Q and Q & R 150°
and 120°respectively, then for equilibrium, forces
6.  The sum oftwo forces acting at a point is 16 N. If P, Q and R are in the ratio :

the resultant force is 8 N and its direction is perpen _ =
dicular to minimum force then forces are : G)ledcd (8) 123
(@)6 Nand 10 N (b) 8 N and 8 N (cydz2:1 (d) 3:2:1
(c)4Nand 12N (d)2Nand 14N
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12.

The component of vectors A = 21 + 33 along the

vector i+ j is :

5
@ 77 ®) 1042
(©) 512 @5

The projection of vectors A = i — 2] + k along the

vector B = 4i _43+7f<is:

19 38
@ ®) 5

8 o
© @

The three vectors A = 3i—2j+k,B=1-3j+ Sk and
C=2i+j- 4k form:
(a) An equilateral triangle
(c)Aright angled triangle

(b)An isosceles triangle
(d) No triangle
If A= 5units, B =6 units and ‘A X E] =15 units, then

what is the angle between A and B?
(a) 30° (b) 60°
(c) 90° (d) 120°

Component of vector i + /3 j on perpendicular to
vector (\/i + j):
NE)

@
©1

o
®) 5
(d) can’t calculate

The value of p so that vectors
Qi-j+k)(i+2j-K)
and (3{ 1. p} 1.5 f() are coplanar should be :
Ok ® %
22
3

() —=% (@ 2

The component of a vector :

(a) Is always less than vector

(b) May be less than or equal to vector
(c) May be greater than vector

(d) Both (b) and (¢)

19.

20.

21.

22.

23.

24.

25.

26.

Two vectors A and B liesina plane, another

vector  lies outside this plane, then the resultant of

thesevectorsie, A + B+ C:

(a) Can be zero
(b) Cannot be zero

(c) Lies in the plane containing A and B

(d) Lies in the plane containing B and ¢
If Px Q = Px R then which of the following is correct?
(a) Q mustbeequalto g

(b) ’Q’ must be equal to ‘f{‘

(¢) There may be infinite solution for the equation
(d) Only one solution is possible

If i = ai + bjis perpendicular to the

vector (i+ j) then

the value ofa and b may be :

) 1,0 (b) -2, 0
11

(©)3,0 (d NG

It ‘5 - B‘ = /2 then calculate the value of ‘5 + \/56‘

@2 (b) 3

(c)4 (d)5

If ‘51 - 6‘ =2 then what is the value of ‘5 - f)' ?

(2)2 (b) 0

(c)4 @5

Ifthe resultant of n forces of different magnitudes
acting at a point is zero, then the minimum value ofn
is:
(a) 1
© 3

(b) 2
(d) 4

Ifthe sum of two unit vectors is a unit vector, then
magnitude of difference is :

(@) 2
(©) 1/2

(b) /3
CING

The vector P = ai +aj+ 3kand Q = ai— 2j—k are
perpendicular to each other. The positive value ofais:
()3 (b)2

(e)1 (d)zero

Physics by Er. SARVESH YADAY (For -NEET & IIT-JEE)
Web-www.Resilienceneetiit.com Address- |** Floor Pratap Bhawan, Hazratganj, Lucknow- Mobile No. 8887579768




27.

28.

29.

30.

31.

32.

For what value of a, A = 2i+ aj + k will
be perpendicular to B = 47 — = k

a) 4 b) zero

c)3 d)1

The maximum and minimum mgnitude of the resultant
of two given vectors are 17 units and 7 unit respec
tively. If these two vectors are atright angles to each
other, the magnitude of their resultant is :

(a) 14 (b) 16

(c) 18 (d)13

Three forces acting on a body are shown in the figure.
To have the resultant force only along the y-direction,
the magnitude of the minimum additional force needed
is:

(a) ?N (b) 3N
()0.5N (d) 15N

The magnitude of vectors A Band Ctare 3,4 and 5

units respectively. If A + B = Cthe angle between

Aand Bis:
(@ /2 (b) cos™ (0.6)
(©)tan’(7/5) (&) /4

Which of'the following is a unit vector ?

(a) cos 01 + 5in 6]

—l—sin6f+—l—coseﬂ'+-l—f<
®) % B
g g
(© 2 J
(d)All of the above
Given, two vectors A = —4i + 43 + 2k and
B =2i- j— k. The angle made by (A + B) with
1+2j—4kis:
(a) 30° (b) 45°
(©) 60° () 90°

33.

34.

35.

36.

37.

38.

39.

40.

A vectorperpendicular to i + j +kis:
®i-j-k
(d)3i+2j-5k

@i-j+k
(© -i-j-k

if A ——3is 43‘ and B = 6i — 83 then which ofthe

following is correct ?

(@) AxB=0 (®) AB=0
A1 o
(c) ‘i?’ ) (d) A and B are parallel

A vector is represented by 31 + J + 2k . Itslengthin XY

-plane is :
(a) 2 (b) V14
(©) V10 @) 5

The square of resultant of two equal forces is three
times their product. Angle between the force is :

i
@ ()

T T
(©) 4 (d 3

Out of'the following set of forces, the resultant of
which cannot be zero :

(a) 10, 10, 10
(c) 10, 20, 20

(b) 10, 10, 10
(d) 10, 20, 40

50 coplanar forces each equal to 10N act on a body.
Each force makes angle 27 /50 with the preceding
force. What is the resultant of the forces?

(a) 1000N (b) 500N

(c) 250N (d) zero

IfA = 3i+4]thenAis:

@)+ 4] ) 43
3i+4]

© = @1

The vector joining the points A(1,1,-1) and B (2.-
3.,4) and pointing from AtoB is :

(a) —i+4j-5k (b) i+4j-5k

(c) i-4j+5k (d) —i-4j-5k
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